ОМВ	CONT	ROL N	10.	TITLE OF I	NFORMATION CO	LLECTION REQUEST							DATE PREPARE	D
	05	79-00	40										Decembe	•
TYPE	E OF R	EQUE	ST	Impo	ortation of Anima	ls and Poultry, Animal	and I	Poultry Products,	Certa	ain Animal	Embryos, Seme	n, and Zoologica	PUBLIC COMME	NT DOCKET NO.
		Renew											APHIS 20	
POIN	IT OF (	CONT	ACT										FEDERAL REGIS	STER NOTICE
		tina H	lelm											55408
TELE	EPHON												FEDERAL REGIS	
	(301	) 851-	3300										Septembe	er 8, 2020
							P	ART I - SUMMARY	,					
	TOTAL	RESPO	NDENT:	S TOTAL AN	NUAL RESPONSES	% ELECTRONIC	RESI	PONSES PER RESPONI	DENT	TOTAL	BURDEN HOURS	HOURS PER RESPO	ONSE % SM.	ALL ENTITIES
	1	L2,86	4	7	33,997	25%		57		4	62,503	0.630		25%
						P	ART	II - LIST OF ACTIV	ITIES			•		
TYPE OF CHANGE	TYPE OF TYPE O		(U.S.C., CFR, or	ACTIVITY DESCRIPTI (title, respondent ty	ON pe, and type of change if discretio	onary)	FORM NO.	F	ORMAT	ESTIMATED ANNUAL NUMBER OF RESPONDENTS OF RECORDKEEPERS	ESTIMATED ANNUAL RESPONSES	ESTIMATED HOURS PER RESPONSE or ANNUAL HOURS PER RECORDKEEPER	ESTIMATED ANNUAL BURDEN HOURS	
(A)	(B)	(C)	(D)	(E)		(F)		(G)		(H)	(1)	(J)	(K)	(L)
E	ı		1	93.101(c)(1)	90-day Written - Canada (Indiv	Bird Possession State idual)	ment	None			167	167	0.250	42
	ı		R	93.101(b)(3)(ii), (iii), (iv)(A), (vi), (vii), (c) (2)(i)(B), (C)(ii), (c)(2) (ii)(C), (ii)(C), (ii)(C), (ii)(C), (ii)(1)(ii) and (iii), and (f)(3) (i); .106(a); .427(b) (2), (c)(1) and (3); .436(a)(1), (2), (4), (5) and (b)(1), (2) (i)-(iii); .504	Recordkeeping Reported Anima	- Identification Marks ( als (Individual)	on	None			7,272	7,272	0.160	1,164
	P1		R	п	Recordkeeping Reported Anima	- Identification Marks ( als (Business)	on	None			37,362	37,362	0.160	5,978
	P2		R	"	Recordkeeping Reported Anima	- Identification Marks ( als (Farms)	on	None			28,089	28,089	0.160	4,495

TYPE OF CHANGE	TYPE OF RESPONDENT	FIRST OCCURENCE	TYPE OF RESPONSE	AUTHORITY (U.S.C., CFR, or Manual)	ACTIVITY DESCRIPTION (title, respondent type, and type of change if discretionary)	FORM NO.	FORMAT	ESTIMATED ANNUAL NUMBER OF RESPONDENTS or RECORDKEEPERS	ESTIMATED ANNUAL RESPONSES	ESTIMATED HOURS PER RESPONSE or ANNUAL HOURS PER RECORDKEEPER	ESTIMATED ANNUAL BURDEN HOURS
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)	(L)
E	I	Х	I	93.101(c)(2)(ii)(E)(1), (c)(2)(ii)(E)(2)(i), (f) (2)(iii)(B)(1); 93.201(3)(B)(1)	Agreement of Confinement in Personal Possession Declaration and Affirmation Under Oath (Individual)	VS 17-8		50	50	0.500	25
	P1		I	93.103(a)(1)(i)-(x)	Application and Space Reservation Request for Ratites and Ratite Hatching Eggs and Site Inspection (Business)	VS 17-128		1	1	1.000	1
	I		I	"	Application and Space Reservation Request for Ratites and Ratite Hatching Eggs and Site Inspection (Individual)	VS 17-128		1	1	1.000	1
E	ı	X	I	93.101(c)(2)(ii)(E)(1), (f)(2)(iii)(A); .201(c) (2)(iii) (A); .206(a); .217(b); . 219; .214(b); .301(b) (2); .305(a) and (b); .407(a) and (b); .417(b); .425; .50 1(b) (2); .520; .521; .804	Declaration of Importation of Animals, Animal Semen, Embryos, Birds, Poultry, and Eggs for Hatching - Cattle/Swine (Individual)	VS 17-29		616	64,680	0.250	16,170
	P1	х	I	"	Declaration of Importation of Animals, Animal Semen, Embryos, Birds, Poultry, and Eggs for Hatching - Cattle/Swine (Business)	VS 17-29		347	34,006	0.250	8,502
	P2	Х	I	"	Declaration of Importation of Animals, Animal Semen, Embryos, Birds, Poultry, and Eggs for Hatching - Cattle/Swine (Farm)	VS 17-29		450	15,300	0.190	2,907
	I		I	93.101(b)(3)(v)	Owner or Manager and Country of Export Quarterly Submission of Registers (Individual)	none		20	80	0.050	4

TYPE OF CHANGE	TYPE OF RESPONDENT	FIRST OCCURENCE	TYPE OF RESPONSE	AUTHORITY (U.S.C., CFR, or Manual)	ACTIVITY DESCRIPTION (title, respondent type, and type of change if discretionary)	FORM NO.	FORMAT	ESTIMATED ANNUAL NUMBER OF RESPONDENTS or RECORDKEEPERS	ESTIMATED ANNUAL RESPONSES	ESTIMATED HOURS PER RESPONSE or ANNUAL HOURS PER RECORDKEEPER	ESTIMATED ANNUAL BURDEN HOURS
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)	(L)
	P1		ı	93.101(b)(3)(iv)(A), (B), (C)	Daily Register and Recordkeeping for Owner or Manager for Ratites and Hatching Eggs (Business)	None		1	1	0.250	1
	_		R	93.101(b)(3)(iv)(A), (B), (C)	Daily Register and Recordkeeping for Owner or Manager for Ratites and Hatching Eggs (Business)	None		1	1	9.000	9
	I		I	93.101(b)(3)(iv)(A), (B), (C)	Daily Register and Recordkeeping for Owner or Manager for Ratites and Hatching Eggs (Individual)	None		1	1	0.150	1
	Ι		R	"	Daily Register and Recordkeeping for Owner or Manager for Ratites and Hatching Eggs (Individual)	None		1	1	4.000	4
	FG		I	93.101(b)(3)(vi) and (vii)	Recordkeeping - National Exporting Country Registers and Maintenance of Current Production Records, Additions to Such Premises, and Ceiling Limitations (Foreign Gov't)	None		20	20	0.300	6
	FG		R	93.101(b)(3)(vi) and (vii)	Recordkeeping - National Exporting Country Registers and Maintenance of Current Production Records, Additions to Such Premises, and Ceiling Limitations (Foreign Gov't)	None		20	20	4.000	80
	P1		ı	93.103(a)(2)(vii)	Request for Hearing for Withdrawal of an Import Permit for Ratites or Ratite Hatching Eggs (Business)	None		1	1	6.000	6
	FG		I	93.101(b)(3)(ix); 93.103(a)(2)(iv)	Random Inspections of Ratite Farms per Breeding Season of Premises for Required Identification and Recording on Quarterly Report of Registers (Foreign Gov't)	None		1	1	1.500	2

TYPE OF CHANGE	TYPE OF RESPONDENT	FIRST OCCURENCE	TYPE OF RESPONSE	AUTHORITY (U.S.C., CFR, or Manual)	ACTIVITY DESCRIPTION (title, respondent type, and type of change if discretionary)	FORM NO.	FORMAT	ESTIMATED ANNUAL NUMBER OF RESPONDENTS or RECORDKEEPERS	ESTIMATED ANNUAL RESPONSES	ESTIMATED HOURS PER RESPONSE or ANNUAL HOURS PER RECORDKEEPER	ESTIMATED ANNUAL BURDEN HOURS
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(I)	(J)	(K)	(L)
	P1			93.106(a), (c), (c)(5) (i)-(iii)	Cooperative Agreement and Trust Fund for Birds (Business)	None		12	24	2.000	48
	P1		I	93.106(c)(2)(iii)	Daily Log and Recordkeeping for Indentification Record for Birds (Business)	VS 17-12		12	12	0.080	1
	P1		R	93.106(c)(2)(iii)	Daily Log and Recordkeeping for Indentification Record for Birds (Business)	VS 17-12		12	12	1.000	12
	P1		I	93.106(c)(4)	Additional Requirements for Quarantine of Birds (Business)	None		1	1	2.000	2
Ш	P1	X	I	93.103(a) (1), .204(a), .214(a), .218(a), .217(c), .301 (a), .304, .404(a)(1), .417(a), .422(a), .424 (a), .435(g) (2), .504(a), .802; 98.4; .10a(b); .34; .3 6(a)(2) and (b)(2)	Application for Import or In-Transit Permit for Live Animals, Animal Semen,Animal Embryos, Birds, Poultry, or Hatching Eggs (Business)	VS 17-129		1,019	27,513	0.500	13,757
Е	P1		I		Request Space at a USDA Operated Quarantine Facility; includes mailing copies (Business)	None		80	8,800	0.100	880

TYPE OF CHANGE	TYPE OF RESPONDENT	FIRST OCCURENCE	TYPE OF RESPONSE	AUTHORITY (U.S.C., CFR, or Manual)	ACTIVITY DESCRIPTION (title, respondent type, and type of change if discretionary)	FORM NO.	FORMAT	ESTIMATED ANNUAL NUMBER OF RESPONDENTS or RECORDKEEPERS	ESTIMATED ANNUAL RESPONSES	ESTIMATED HOURS PER RESPONSE or ANNUAL HOURS PER RECORDKEEPER	ESTIMATED ANNUAL BURDEN HOURS
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(I)	(J)	(K)	(L)
E	FG		I	93.104(a); .204(a); .2 14(a); .218(a); .217(c); .301(c)(2) (iii); .314(a); .317(a); .320; .326; .404(a); . 405; 406(a) and (b); .418(a), (b), and (c); .423(a), (b), and (c); .427(b), (c)(3), and (d)(1); .428(a) and (b); .432(a), (c), and (d); .435(g)	Export Health Certificates (Foreign Gov't)	none		202	155,136	0.500	77,568
	P1		ı	93.103(a)(3) (ii); .103(a)(3) (v); .210(b); .309(a) and (iii); .412(b), (d) (2)(i)(E), and (d)(2) (ii); .511(a) and (b)	Letter of Credit, Cashier's Check, Certified Check, or Money Order (Business)	none		40	400	0.100	40
	P1		Ι	93.103(3)(iv) (A), .204(a)(3)(iv)(A), .304(a)(2) (vi), .404(a)(4)(iv)(A), .504(a)(4)(iv)(A)	Written Notice of Cancellation from Importer (Business)	None		1	1	0.250	1
	I	Х	ı	93.301(d)(1)(ii)(A-C)	Daily Record of Horse's Activities (Individual)	None		500	500	0.160	80
	P1		R	93.301(d)(ii)(A-C)	Recordkeeping - Horses for Association and Trainer (Business)	None		500	500	12.000	6,000
	I		ı	93.301(f)(6)	Written Request to Change Horse's Itinerary or Method of Transport (Individual)	None		6	6	0.330	2

TYPE OF CHANGE	TYPE OF RESPONDENT	FIRST OCCURENCE	TYPE OF RESPONSE	AUTHORITY (U.S.C., CFR, or Manual)	ACTIVITY DESCRIPTION (title, respondent type, and type of change if discretionary)	FORM NO.	FORMAT	ESTIMATED ANNUAL NUMBER OF RESPONDENTS or RECORDKEEPERS	ESTIMATED ANNUAL RESPONSES	ESTIMATED HOURS PER RESPONSE or ANNUAL HOURS PER RECORDKEEPER	ESTIMATED ANNUAL BURDEN HOURS
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(I)	(J)	(K)	(L)
	I			93.301(a), .304(a), .4 04(a)(4) (ii), .412(a), .417(a), . 422(a), .424(a), .504( a), .802(a); 98.4(a), .10; .34(a), . 36(a)	Appeal or Hearing of Import Permit Withdrawal (Individual)	None		1	1	6.000	6
E	S1	Х	1	93.301(h)(1)	Written Agreement with State for CEM Monitoring by State (State)	None		19	190	3.500	665
	I		I	93.301(h)((5)	Opportunity to Present Views on Suspension (Individual)	None		1	1	6.000	6
	P1		Ι	93.404(c)(2), .504(c) (2)	Zoological Park Inspection Report (Business)	VS 17-65A		1	2	5.000	10
E	P1		I	93.404 (c)(1)(ii) and (c)(4); .504(c)(1)(ii) and (c)(4)	Agreement for the Importation, Quarantine, and Exhibition of Certain Wild Ruminants and Wild Swine (Business)	VS 17-65B		11	11	0.500	6
	P1		I	93.404(c)(2), .504(c) (2)	Reporting of Zoo Animals with Suspected Cases of Contagious or Communicable Diseases (Business)	VS 17-65C		1	2	0.190	1
	P1		ı	93.404(c)(4), .504(c) (4)	Agreement for Transfer of Certain Wild Animals (Business)	VS 17-65D		1	1	0.190	1
	P1		ı		Application for Approval of Quarantine or Holding Facility (Letter) (Business)	None		22	22	0.250	6
	I		ı	"	Application for Approval of Quarantine or Holding Facility (Letter) (Individual)	None		1	1	0.250	1
	P1		ı		Opportunity for Hearing to Present Views on Facility Withdrawal and Written Withdrawal by Facility Operator (Business)	None		17	17	6.000	102

TYPE OF CHANGE	TYPE OF RESPONDENT	FIRST OCCURENCE	TYPE OF RESPONSE	AUTHORITY (U.S.C., CFR, or Manual)	ACTIVITY DESCRIPTION (title, respondent type, and type of change if discretionary)	FORM NO.	FORMAT	ESTIMATED ANNUAL NUMBER OF RESPONDENTS or RECORDKEEPERS	ESTIMATED ANNUAL RESPONSES	ESTIMATED HOURS PER RESPONSE or ANNUAL HOURS PER RECORDKEEPER	ESTIMATED ANNUAL BURDEN HOURS
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)	(L)
	P1		I	93.301(f)(12) and 93.304(a)(1)(iii)(J)	Trust Fund or Compliance Agreement for Horses (Business)	None		28	28	0.190	6
	P1	Х	I	93.412(d)(4)(vi)	Daily Log of Privately Operated Quarantine Facility for Ruminants, Swine, and Equine (Business)	None		100	100	0.020	2
	P1		R	93.412(d)(4)(vi)	Recordkeeping - Daily Log of Privately Operated Quarantine Facility for Ruminants, Swine, and Equines (Business)	None		23	23	0.250	6
	P1			93.103(a)(1), 93.210(a)	Application for Approval of Quarantine Facilities and Request for Transfer of Operations to Another Facility for Birds or Poultry (Business)	VS 17-11		28	28	0.500	14
	I		I	п	Application for Approval of Quarantine Facilities and Request for Transfer of Operations to Another Facility for Birds or Poultry (Individual)	VS 17-11		1	1	0.500	1
E	P1		Ι	93.210(a), .218(b), .3 09(a) and (b), .321,.325, .412(a ) and (b), .424(b)	Written Request for Inspection, Other Services, and Dipping (Business)	VS 17-32		249	13,446	0.500	6,723
	FG		_	93.427(b)	Importer or Agent Certification Free of Fever Tick (Letter) (Foreign Gov't)	None		175	9,275	0.190	1,763
E	P1		I	93.704(a), .802(a)	72-hour Prior Notice of Arrival for Aquaculture, Hedgehogs, Tenrecs, Elephants, Hippos, Rhinos, and Tapirs (Business)	None		100	2,700	0.330	891
	P1	Х	1	93.435(d)	Owner Affidavit for Sheep and Goats from Scrapie Regions (Business)	None		1	1	1.000	1

TYPE OF CHANGE	TYPE OF RESPONDENT	FIRST OCCURENCE	TYPE OF RESPONSE	AUTHORITY (U.S.C., CFR, or Manual)	ACTIVITY DESCRIPTION (title, respondent type, and type of change if discretionary)	FORM NO.	FORMAT	ESTIMATED ANNUAL NUMBER OF RESPONDENTS or RECORDKEEPERS	ESTIMATED ANNUAL RESPONSES	ESTIMATED HOURS PER RESPONSE or ANNUAL HOURS PER RECORDKEEPER	ESTIMATED ANNUAL BURDEN HOURS
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)	(L)
	FG		I	92.2(a)	Request for Recognition of the Animal Health Status of a Region (Foreign Gov't)	None		5	5	1.000	5
	FG		I	92.2(b)	Application for Recognition of the Animal Health Status of a Region (Foreign Gov't)	None		5	5	80.000	400
	FG		I	92.2(c)	Application for Recognition of a Region as Historically Free of a Disease (Foreign Gov't)	None		2	2	60.000	120
	FG		I	92.2(b) and (g)	Request for Additional Information about a Region (Foreign Gov't)	None		7	7	30.000	210
	FG		-	92.2	Appeal Classification of Animal Health Status (Foreign Gov't)	None		1	1	10.000	10
	FG		_	92.2	Written Recommendations Have Been Implemented by the Region (Foreign Gov't)	None		3	3	20.000	60
	P1		I	93.314(b)	Certification for Equids that Spend Less than 60 Days in a Region (Business)	None		50	50	0.100	5
	P1		I	93.304(a)(1)(iii)(B)	Permanent Electronic ID, Compatible Reader (Business)	None		1	30	0.100	3
	P2	х	I	"	Permanent Electronic ID, Compatible Reader (Hobby Farm)	None		1	30	0.100	3
	FG		I	"	Permanent Electronic ID, Compatible Reader (Foreign Gov't)	None		1	30	0.100	3
	S1		I	ıı	Permanent Electronic ID, Compatible Reader (State)	None		1	30	0.100	3

TYPE OF CHANGE	TYPE OF RESPONDENT	FIRST OCCURENCE	TYPE OF RESPONSE	AUTHORITY (U.S.C., CFR, or Manual)	ACTIVITY DESCRIPTION (title, respondent type, and type of change if discretionary)	FORM NO.	FORMAT	ESTIMATED ANNUAL NUMBER OF RESPONDENTS or RECORDKEEPERS	ESTIMATED ANNUAL RESPONSES	ESTIMATED HOURS PER RESPONSE or ANNUAL HOURS PER RECORDKEEPER	ESTIMATED ANNUAL BURDEN HOURS
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)	(L)
	P3	х	I	"	Permanent Electronic ID, Compatible Reader (Non-Profit)	None		1	30	0.100	3
	P1		1	93.304(a)(1)(iii)(C)	Photographs for Identification of Horses (Business)	None		1	30	0.250	8
	ı		ı	"	Photographs for Identification of Horses (Individual)	None		1	30	0.250	8
	FG		ı	"	Photographs for Identification of Horses (Foreign Gov't)	None		1	30	0.250	8
	S1		ı	"	Photographs for Identification of Horses (State)	None		1	30	0.250	8
	P3		ı	"	Photographs for Identification of Horses (Non-Profit)	None		1	30	0.250	8
	P1		_	93.301(f)(5)(xi)	Written Plan for Medical Treatment of Horses (Business)	None		1	6	0.250	2
	FG		1	93.301(j)(4)	Statement/Certificate for Animals Entering the United States from Countries Affected with Screwworm (Foreign Gov't)	None		1	720	0.500	360
	P1		I	93.301(b)(1)(ii), 93.301(c)(1)	Checklist for the Approval of Permanent Privately Owned Equine Quarantine Facilities (Letter) (Business)	None		1	1	1.000	1
	I		I	"	Checklist for the Approval of Permanent Privately Owned Equine Quarantine Facilities (Letter) (Individual)	None		1	1	1.000	1
	P3	х	I	"	Checklist for the Approval of Permanent Privately Owned Equine Quarantine Facilities (Letter) (Non-Profit)	None		1	1	1.000	1

TYPE OF CHANGE	TYPE OF RESPONDENT	FIRST OCCURENCE	TYPE OF RESPONSE	AUTHORITY (U.S.C., CFR, or Manual)	ACTIVITY DESCRIPTION (title, respondent type, and type of change if discretionary)	FORM NO.	FORMAT	ESTIMATED ANNUAL NUMBER OF RESPONDENTS or RECORDKEEPERS	ESTIMATED ANNUAL RESPONSES	ESTIMATED HOURS PER RESPONSE or ANNUAL HOURS PER RECORDKEEPER	ESTIMATED ANNUAL BURDEN HOURS
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)	(L)
	P1	Х	I	93.204, 93.304, 93.404, 93.504, 93.106	Specimen Submission (Business)	VS 10-4 and 10-4A		5,500	5,500	0.330	1,815
	P1	Х	I	Part 94	Notice of Arrival (Business)	None		50	25,000	0.160	4,000
	_		I	Part 94	Notice of Arrival (Individual)	None		1	1	0.160	1
Е	P1		I	Part 94	Emergency Action Notification (Business)	PPQ 523		3	3	1.000	3
E	P1	Х	I	Part 94	Application for Permit to Import or Transport Controlled Material or Organisms or Vectors (Business)	VS 16-3		3	3	0.500	2
	P1		I	93.906(b)	Refusal of Entry and Order to Dispose of Fish (Business)	17-136		1	1	0.083	1
Е	P1		R	93.906(a)	Recordkeeping (Business)	None		1	1	0.250	1
	FG		I	93.904 (c)(3)	Cleannig and Disinfection Certificate (Foreign Gov't)	None		1	1	1.000	1
Е	FG		I	93.404	Premises Information (Herd of Origin Certificate and Annex) (Foreign Gov't)	None		1	66,865	0.750	50,149
Е	FG		ı	93.406	TB History Certificate (Foreign Gov't)	None		1	26,746	4.000	106,984
Е	FG		ı	93.427(b)(2)	Dip Certificate (Foreign Gov't)	None		1,030	13,390	0.330	4,419
Е	FG	х	ı	93.427( c)(1)	Brand (Business)	None		1,030	13,390	0.020	268

TYPE OF CHANGE	TYPE OF RESPONDENT	FIRST OCCURENCE	TYPE OF RESPONSE	AUTHORITY (U.S.C., CFR, or Manual)	ACTIVITY DESCRIPTION (title, respondent type, and type of change if discretionary)	FORM NO.	FORMAT	ESTIMATED ANNUAL NUMBER OF RESPONDENTS or RECORDKEEPERS	ESTIMATED ANNUAL RESPONSES	ESTIMATED HOURS PER RESPONSE or ANNUAL HOURS PER RECORDKEEPER	ESTIMATED ANNUAL BURDEN HOURS
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)	(L)
Е	P1		_	Part 94	On-Hold Shipment Notification Application (Business)	VS 16-79		156	156	0.500	78
	P1		I	Part 95	Report of Entry, Shipment of Restricted Imported Animal Products and Animal Byproducts, and Other Material (Business)	VS 16-78		250	1,250	0.160	200
	I		ı	Part 95	Report of Entry, Shipment of Restricted Imported Animal Products and Animal Byproducts, and Other Material (Individual)	VS 16-78		1	1	0.160	1
E	P1		Ι	98.34(d), 98.35(e), 98.36(a)(2)	Certificate for Importing Sheep and Goat Semen from Canada (Business)	VS 17-139		2	8	0.250	2
	FG		1	93.427(b)(1)(ii)	Seals (Foreign Gov't)	None		1	1	1.000	1
D	P1	X	-	93.429	Inspection Report of Establishment for Immediate Slaughter of Import Animals (Business) (NEW)	17-36		77	462	1.000	462
D	P1	X	_	93.305, 93.322, 93.407, 93.425, 93.506	Report of Animals, Poultry, or Eggs offered for Importation (Business) (NEW)	VS 17-30		729	64,881	1.000	64,881
D	P1	х	1	93.305	Equine Import Testing Submission Form (Business) (NEW)	VS 17-31 and 17-31A		500	500	0.500	250
D	P1	Х	I	9 CFR 93.103(b)(3)	Summary of Quarantine Birds (Business) (NEW)	VS 17-13		2	30	1.000	30
D	FG		I	9 CFR 93.439(b), 9 CFR 93.442(b	Official Identification and Certification (Foreign Gov't) (NEW)	None		100	35,000	1.000	35,000
D	P1	х	1	9 CFR 93.439(b), 9 CFR 93.442(b	Official Identification and Certification (Business) (NEW)	None		100	35,000	1.000	35,000

TYPE OF CHANGE	TYPE OF RESPONDENT	FIRST OCCURENCE	TYPE OF RESPONSE	AUTHORITY (U.S.C., CFR, or Manual)	ACTIVITY DESCRIPTION (title, respondent type, and type of change if discretionary)	FORM NO.		ESTIMATED ANNUAL NUMBER OF RESPONDENTS OF RECORDKEEPERS	DESDONISES	ESTIMATED HOURS PER RESPONSE or ANNUAL HOURS PER RECORDKEEPER	ESTIMATED ANNUAL BURDEN HOURS
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(I)	(J)	(K)	(L)
D	P1	Х		VS Guidance and Program Handbook	Certification of Inspection of Import Animals (Business) (NEW)	17-37		884	19,448	0.250	4,862
D	P1	х		VS Guidance and Program Handbook	Notice of Animals Not Shipped (Business) (NEW)	VS 17-41		884	19,448	0.250	4,862